

<p>1.</p> $7 \times 8 =$ $9 \times 3 =$ $12 \times 6 =$ $5 \times 3 =$ $11 \times 13 =$ $81 \div 9 =$ $63 \div 7 =$	<p>2.</p> $9 + -3 =$ $-12 - -9 =$ $7 - +4 =$ $-3 + 6 =$ $27 - +14 =$ $-19 + -3 =$	<p>3. If $a = 2$</p> $a^2 + 3 =$ $14 - (a + 3) =$ $(a + 9) \times (a \div 1) =$ $a^3 + a^2 =$ $a^3 \times a^2 =$ $3a + 9 =$
<p>4. Find:</p> <p>a) $4 \times \frac{2}{9} =$</p> <p>b) $\frac{5}{8} \times 5 =$</p> <p>c) $\frac{6}{5} \times 100 =$</p> <p>d) $3\frac{1}{2} \times 3\frac{1}{5} =$</p>	<p>5. Find:</p> <p>a) $6 \div 1\frac{1}{4} =$</p> <p>b) $3 \div \frac{4}{9} =$</p> <p>c) $\frac{9}{12} \div 2\frac{1}{3} =$</p> <p>d) $5\frac{1}{2} \div \frac{3}{8} =$</p>	<p>6. Find:</p> <p>a) $1\frac{2}{3} \times \frac{12}{13} \times \frac{1}{2} =$</p> <p>b) $\frac{4}{9} \times 3\frac{1}{2} \times \frac{6}{7} =$</p>
<p>7. Write the inverse.</p> <p>a) $\frac{3}{7} =$</p> <p>b) $2\frac{1}{4} =$</p> <p>c) $\frac{1}{3} =$</p> <p>d) $2 =$</p>	<p>8. Find:</p> <p>a) $\frac{\diamond}{4} + \frac{1}{4} = \frac{\diamond}{20}$ $\diamond =$</p> <p>b) $\frac{\star}{\star} - \frac{\star}{6} = \frac{\star}{12}$ $\star =$</p>	<p>9. Find</p> <p>a) $2\frac{2}{4} - (2\frac{2}{3} - \frac{4}{6}) \div 2 =$</p> <p>b) $2 + \frac{5}{8} \times \frac{1}{3} =$</p> <p>c) $9 - \frac{3}{8} \times \frac{2}{7} =$</p>